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QUESTION 1

Which of the following could increase carbon emissions when introducing home-working to an organisation?
A. Engineers need to travel to support IT equipment.

B. Home-workers make more use of video conferencing.

C. Existing equipment is re-used at the home site.

D. Home-workers are more likely to take coffee breaks.

Correct Answer: A

QUESTION 2

Which of the following is the best definition of cap and trade?
A. Companies can trade emissions within an agreed limit.

B. Companies can trade emissions within agreed timescales.
C. Companies can trade emissions with an agreed price.

D. Companies can trade emissions within a single region.

Correct Answer: A

QUESTION 3

What is the role of a Stakeholder Map in a Green IT programme?
A. It provides performance measurement of key stakeholders.

B. It highlights the responsibilities of each stakeholder.

C. It identifies where the roles of stakeholders overlap.

D. It identifies where stakeholders will influence the programme.

Correct Answer: D

QUESTION 4
Which of the following is a Framework that can be used to deliver Green IT systems?
A. The IT Infrastructure Library.

B. The Environmental Systems Method.
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C. The Green Data Centre Toolkit.
D. The Custom Development Framework

Correct Answer: A

QUESTION 5

The Carbon Footprint comprises two parts. Which of the following is part of the secondary footprint?
A. Travelling to the office.

B. Opening a spreadsheet.

C. Recycling a server.

D. Printing out a report.

Correct Answer: C

QUESTION 6

Which of the following best describes the goal of capacity management?
A. The process of ensuring IT services meet user demand.

B. The process of ensuring the optimum use of data storage.

C. The process of ensuring the availability of new systems.

D. The process of ensuring data is available on demand.

Correct Answer: A

QUESTION 7

The Carbon Footprint comprises two parts. Which of the following is part of the secondary footprint?
A. Recycling a server.

B. Travelling to the office.

C. Opening a spreadsheet.

D. Printing out a report.

Correct Answer: A

QUESTION 8
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You are developing a Green IT Action Plan that specifies many initiatives. What criteria should you use to select
initiatives that can deliver Quick Wins?

A. Low urgency, High impact.
B. High urgency, Low impact.
C. High urgency, High impact.
D. Low urgency, Low impact.

Correct Answer: C

QUESTION 9

How much energy is used by a PC screen saver?

A. The same as a standard office application.

B. Half the power of a standard office application.

C. One third the power of a standard office application.
D. Twice the power of a standard office application.

Correct Answer: A

QUESTION 10
How can adopting Green IT principles benefit an organisation reputation?

A. It demonstrates the organisation competitiveness to government.It demonstrates the organisation? competitiveness
to government.

B. It demonstrates the organisation aspirations to customers.It demonstrates the organisation? aspirations to
customers.

C. It demonstrates the organisation buying needs to suppliers.Ilt demonstrates the organisation? buying needs to
suppliers.

D. It demonstrates the organisation commitment to charity.Ilt demonstrates the organisation? commitment to charity.

Correct Answer: B

QUESTION 11
Which of the following is part of a Green IT Procurement process?
A. Implementing effective escrow agreements for software products

B. Negotiating discounts for products with high energy consumption.
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C. Ensuring that suppliers comply with your environmental policy.
D. Requiring that suppliers have an effective Health and Safety policy.

Correct Answer: C

QUESTION 12

Virtualised computing resources are delivered dynamically. What does this mean?
A. The resources are delivered only when they are needed.

B. The resources are delivered with very high throughput.

C. The resources are delivered with very low CPU utilisation.

D. The resources are delivered with no storage requirement.

Correct Answer: A

QUESTION 13

Which of the following describes the purpose of Cost Benefit Analysis?
A. To determine the cash flow of a Green IT investment.

B. To identify the risks of a Green IT investment.

C. To calculate the return on a Green IT investment.

D. To identify the advantages of a Green IT investment.

Correct Answer: C

QUESTION 14

What is the best definition of a Carbon Footprint?

A. The amount of greenhouse gas emitted within a defined geographical area.

B. The amount of greenhouse gas emitted by extracting minerals.

C. The amount of greenhouse gas emitted by an organisation.

D. The amount of greenhouse gas emitted minus the amount of carbon offsetting.

Correct Answer: C

QUESTION 15
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What type of person is likely to benefit most from being set measurable targets within a Green IT programme?
A. Someone who constantly belittles the team and its achievements.

B. Someone who believes it is too late for the project to make a difference.

C. Someone who is committed but wants to do everything at once.

D. Someone who only participates if it helps their career opportunities.

Correct Answer: C
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